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N 3,760 = 3,000 + 600 + 1) 3,760 = 3,000 + 600 +

2) Round 346 to the nearest 10. 2) Round 346 to the nearest 10.

3) 5-7= 3) 5-7=

4) 4x8= 4) 4x8=

5) 45 x 10 = 5) 45 x 10 =

6) What is % of 242 6) What is % of 24?

7) How many sides does a hexagon have? 7) How many sides does a hexagon have?
8) 3x4x3= 8) 3x4x3=

£))] 345 + 129 = $))] 345 + 129 =

10) 567 - 293 = 10) 567 - 293 =
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10 3,760 = 3,000 + 600 + 1) 3,760 = 3,000 + 600 +

2) Round 346 to the nearest 10. 2) Round 346 to the nearest 10.

3) 5-7= 3) 5-7=

4) 4x8= 4) 4x8=

5) 45 x 10 = 5) 45 x 10 =

6) What is % of 24? 6) What is % of 24?

7) How many sides does a hexagon have? 7) How many sides does a hexagon have?
8) 3x4x3= 8) 3x4x3=

9 345 + 129 = 9 345 + 129 =

10) 567 - 293 = 10) 567 - 293 =




